
BSEH Practice Paper Marking Scheme  
Class- XI 

Military Science 
Time: 2 ½  Hours                                                    Max. Marks: 60 

 lHkh iz’u vfuok;Z gSA 

 iz’u la[;k 01 esa 15 iz’u gaS] ftuesa 06 cgq&fodYih; iz’u] 03 fjDr LFkku Hkjks iz’u] 03 ,d 
'kCnh; mŸkj ds iz’u vkSj 03 vfHkdFku&dkj.k iz’uksa dk mŸkj nsuk gSA izR;sd iz’u 01 vad dk 
gSA 

 iz’u la[;k 02 ls 07 rd ds iz’u vfry?kq mŸkjh; gS] buesa 02 iz’uksa esa vkUrfjd fodYi gSaA 
buds mŸkj 40 ls 60 'kCnksa esa nsus gSA izR;sd iz’u ds 02 vad gSaA 

 iz’u la[;k 08 ls 13 rd ds iz’u y?kq mŸkjh; gS] buesa 02 iz’uksa esa vkUrfjd fodYi gSaA buds 
mŸkj 60 ls 80 'kCnksa esa nsus gSA izR;sd iz’u ds 03 vad gSaA 

 iz’u la[;k 14 ls 16 rd ds iz’u fucU/kkRed gS] buesa lHkh iz’uksa esa vkUrfjd fodYi gSaA 
buds mŸkj yxHkx 250 'kCnksa esa nsus gSA izR;sd iz’u ds 05 vad gSaA 

General Instructions: 
1- All questions are compulsory.  
2- Question no. 01 has 15 questions, which consisting of 06 multiple choice questions, 03 

fill in the blank questions, 03 one word answer type questions and 03 Assertaion-Reason 
questions. Each question is of 01 mark. 

3- Questions no. 02 to 07 are very short answer type questions, out of which 02 questions 
have internal choices. These are to be answered in 40 to 60 wards. Each question carries 
02 marks. 

4- Questions no. 08 to 13 are short answer type questions, out of which 02 questions have 
internal choices. These are to be answered in 60 to 80 wards. Each question carries 03 
marks. 

5- Questions no 14 to 16 are essay type questions; all the questions have internal choice. 
These are to be answered in about 250 words. Each question carries 05 marks. 

 
 

Q.No. Value Points/ Answer MM 
 Multiple Choice Type Questions 1x15= 15 
1 (1) fdlus dgk& ;fn rqe 'kkfUr pkgrs gks rks ;q) dks le>ks\ 

¼d½ ts0,Q0lh0 Qqyj 
¼[k½ fyfMy gkVZ 
¼x½ usiksfy;u 
¼?k½ buesa ls dksbZ ugha 
 
mrj&¼[k½ fyfMy gkVZ 
 

1 



Who said- If you want peace, understand war? 
(a) JFC Fuller 
(b) Liddle Hart 
(c) Napoleon  
(d) None of the above 

 Answer- (b) Liddle Hart 
1(2) lcls izkphu osn dkSu&lk gS\ 

¼d½ lkeosn 
¼[k½ ;tqoZsn 
¼x½ _Xosn 
¼?k½ vFkoZosn 
mrj& ¼x½ _Xosn 
Which is the oldest Veda? 
(a) Samaveda 
(b) Yajurveda 
(c) Rigveda 
(d) Atharvaveda 
Answer- (c) Rigveda 

1 

1(3) xhrk dk mins’k dgk¡ fn;k x;k Fkk\ 
¼d½ dq:{ks= 
¼[k½ Fkkuslj 
¼x½ dSFky 
¼?k½ T;ksfrlj 
mrj& T;ksfrlj 
Where was  the Gita preached? 
(a) Kurukshetra 
(b) Thanesar 
(c) Kaithal 
(d) Jyotisar 
Answer- Jyotisar 

1 

1(4) ekS;Z oa’k dk izFke 'kkld dkSu Fkk\ 
¼d½ v’kksd 
¼[k½ pUnzxqIr ekS;Z 
¼x½ fcUnqlkj 
¼?k½ cg~nFkZ 
mrj& ¼[k½ pUnzxqIr ekS;Z 
Who was the first ruler of the Maurya dynasty? 
(a) Ashoka 
(b) Chandragupta Maurya 
(c) Bindusara 
(d) Bahdarth 
Answer- (b) Chandragupta Maurya 
 
 
 

1 



1(5) fldanj dgka dk 'kkld Fkk\ 
¼d½ eslhMksfu;k  
¼[k½ jkse 
¼x½ Qkjl 
¼?k½ buesa ls dksbZ ugha 
mrj& ¼d½ eslhMksfu;k  
Where was Alexander the ruler? 
(a) Macedonia 
(b) Rome 
(c) Persia 
(d) None of these 
Answer- (a) Macedonia 

1 

1(6) bafMdk iqLrd dk ys[kd dkSu Fkk\ 
¼d½ LVªcks 
¼[k½ IyqVkdZ 
¼x½ esxkLFkuht 
¼?k½ tfLVu 
mrj& ¼x½ esxkLFkuht 
Who was the author of the book Indica? 
(a) Strabo 
(b) Plutarch 
(c) Megasthenes 
(d) Justin 
Answer- (c) Megasthenes 

1 

1(7) Hkkjr esa ck:n ds gfFk;kj iz;ksx djus dk Js; fdl dks tkrk gS\ 
mrj& ckcj dksA 
Who is credited with using gunpowder weapons in India? 
Answer- Babar  

1 

1(8) eksgEen xkSjh vkSj i`Fohjkt pkSgku ds e/; vafre yM+kbZ dgk¡ yM+h xbZ\ 
mrj& rjkbZu ¼gfj;k.kk½ 
Where was the last battle bought between Mohammad Ghori and 
Prithviraj Chauhan? 
Answer- Tarain (Haryana) 

1 

1(9) f'kokth dk tUe fdl o"kZ gqvk\ 
mrj& 1630 bZ0  
In which year was Shivaji born? 
Answer- 1630 AD 

1 

1(10) ikuhir dh nwljh yM+kbZ o"kZ ------------------ esa yM+h xbZA 
mrj& 1556 bZ0 esaA 
The second battle of Panipat was fought in ………… 
 Answer- In 1556 AD 

1 

1(11) bZLV bafM;k dEiuh dh LFkkiuk o"kZ ------------------ esa dh xbZ FkhA 
mrj& 1600 bZ0A 

          The East India Company was established in the year ………..… 
          Answer- 1600 AD 

1 



1(12) d'ehj fj;klr dk Hkkjr esa foy; ----------------------------- esa gqvkA 
mrj& 26 vDVwcj] 1947 esaA 
The princely state of Kashmir merged with India in…………….. 
Answer- 26 October, 1947.  

1 

1(13) vfHkdFku (A) & lSU; foKku dks lsuk ls lacaf/kr Kku dk cks/k djkus 
okyk 'kkL= dgk tk ldrk gSA 
dkj.k (R)& bls lSU; v/;;u] j{kk v/;;u vkfn ukeksa ls Hkh tkuk tkrk 
gSA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 
mrj&¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
 
Assertion (A)- Military science can be said to be the science of 
understanding the knowledge related to the army. 
Reason(R)- It is also known as military studies, defence studies etc. 
(A)  Both Assertion (A) and Reason (R) are true. 
(B) Both Assertion (A) and Reason (R) are false. 
(C) Assertion (A) is true but Reason (R) is false. 
(D) Assertion (A) is false but Reason (R) is true. 
Answer- (A) Both Assertion (A) and Reason (R) are true. 

1 

1(14) vfHkdFku (A) & 1857 dh ØkafRk esa eqxy 'kkld cgknqj’kkg tQj dh 
vge Hkwfedk jgh FkhA 
dkj.k (R)& Økafrdkfj;ksa us budks viuk usrk@’kkld ?kksf"kr fd;kA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 
mrj& ¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
 
Assertion (A)- Mughal ruler Bahadur Shah Zafar played an important 
role in the revolt of 1857. 
Reason (R)- The revolutionaries declared him as their leader/ ruler. 
(A) Both Assertion (A) and Reason (R) are true. 
(B)Both Assertion (A) and Reason (R) are false. 
(C)Assertion (A) is true but Reason (R) is false. 
(D)Assertion (A) is false but Reason (R) is true. 
(B) Answer- (a) Both Assertion (A) and Reason (R) are true. 

1 

1(15) vfHkdFku (A) & ikuhir dh rhljh yM+kbZ vgen'kkg vCnkyh vkSj ejkBksa 
ds e/; gqbZA 
dkj.k (R)&  bl yM+kbZ esa vgen’kkg vCnkyh dh gkj gqbZA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 

1 
 
 



¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 
mrj& ¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
 
Assertion (A)- The third battle of Panipat was fought between Ahmed 
Shah Abdali and the Marathas.  
Reason (R)- Ahmed Shah Abdali was defeated in this battle. 
(A)Both Assertion (A) and Reason (R) are true. 
(B)Both Assertion (A) and Reason (R) are false. 
(C)Assertion (A) is true but Reason (R) is false. 
(D)Assertion (A) is false but Reason (R) is true. 
Answer- (c) Assertion (A) is true but Reason (R) is false. 

 [Very Short Answer Type Questions] 02x06=12 
2      oSfnd dky esa lsuk fdrus izdkj dh gksrh Fkh\ 

     mrj& 02] iSny vkSj jFk lsukA  
        How many types of armies were there in the Vedic period? 
        Answer- 02, Infantry and Chariot army.  

2 

3     >sye dh yM+kbZ dc vkSj fdlds e/; yM+h xbZ\ 
    mrj& 326 bZ0iw0 vkSj fldanj ,oa iksjl ds e/;A 
       When and between whom was the battle of Hydaspes fought? 
       Answer- 326 BC and between Alexander and Porus.  

2 

 4      egkHkkjr dky esa lsuk dh lcls NksVh vkSj cM+h bdkbZ dkSu lh Fkh\ 
     mrj& lsuk dh NksVh bdkbZ & ifRr vkSj cM+h& v{kkSfg.khA 
        Which was the smallest and largest unit of the army during   
        Mahabharata period? 
        Answer- Smallest unit of army- Patti and largest- Akshauhini       

2 

5      ekS;Z dky esa xqIrpj fdrus izdkj ds gksrs Fks\ 
     mrj& 02 izdkj ds& laLFkku vkSj lapkj pjA 
        How many types of spies were there in the Maurya Period? 
     Answer- 02 types- Sansthana and sanchari  

2 

6      rjkbZu esa fdruh yM+kbZ;k¡ yM+h xbZ gSa\ 
     mrj& 03 ¼1191] 1192 vkSj 1215½ 
         How many battles were fought in Tarain? 
         Answer- 03 (1191, 1192, 1215) 

          Or 
     Hkkjr esa rqyqxek ;q)uhfr dk iz;ksx dc vkSj fdlus fd;k\ 
     mrj& 1526 esa vkSj ckcj usA  
        When and who used the Tulugama war strategy in India?  
        Answer- In 1526 AD and by Babar.        

2 

7      eulcnkjh O;oLFkk D;k gS\ 
     mrj& eulc vjch Hkk"kk dk 'kCn gS ftldk vFkZ gS in ;k fLFkfrA bl ;g     
     ,d iz’kklfud ,oa lSfud bdkbZ Fkh ftls vdcj }kjk 'kq: fd;k x;k Fkk 
        What is Mansabdari system? 
        Answer- Mansab is an Arabic word which means position or status.         
        It was administrative and military unit which was started by Akbar.   
            OR 

2 



        eaxy ikaMs dks dc vkSj dgk¡ Qkalh nh xbZ\ 
     mrj& 08 vizSy] 1857 vkSj cSjdiqj esaA 
        When and where was Mangal Pandey hanged? 
        Answer- 08 April, 1857 and in Barrackpur.  

 [Short Answer Type Questions] 03x06=18 
8      Iyklh dh yM+kbZ ds D;k dkj.k Fks\ 

    mrj& Iyklh dh yM+kbZ ds dkj.k 
1- vaxzstks dh foLrkjoknh uhfr 
2- vkarfjd "kM+;a= vkSj fo’okl?kkr 
3- CySd gksy dh ?kVuk 
4- fljktq|kSyk dh v;ksX;rk vkfnA 

      What were the causes for the battle of Plassey? 
      Answer- Causes of the battle of Plassey 

1. Expansionist policy of the British 
2. Internal conspiracy and betrayal  
3. Incident of Black Holes 
4. Incompetence of Siraj-ud-daulah etc. 

3 

9       dkSfVY; }kjk of.kZr ;q) ds izdkj fyf[k,A 
      mrj& 03 izdkj ds ;q) ¼izdk’k] dwV vkSj rq".kh ;q)½ 
          Write the types of war described by Kautilya. 
          Amswer- 03 types of war (Open/Declared, Deceptive/ unfair  and   
                                                    Silent/ Secret war) 

3 

10      ikuhir ds rhljs ;q) esa ejkBksa dh gkj ds D;k dkj.k Fks\ 
     mrj& gkj ds dkj.k 

1- usr`Ro dh deh 
2- Hkkjrh; jktkvksa dk lg;ksx u feyuk 
3- jln ,oa vkiwfrZ dh leL;k 
4- dwVuhfrd foQyrk 
5- HkkSxksfyd ifjfLFkfr;k¡ vkfnA 

  
            What were the reasons for the defeat of the Marathas in the third   
             battle of Panipat? 
       Answer- reasons for the defeat 

1- Lack of leadership 
2- Lack of support from Indian kings 
3- Problem of logistic and supply 
4- Diplomatic failure 
5- Geographical conditions etc. 

3 

11       ny [kkylk dh lSU; O;OkLFkk dk o.kZu dhft,A 
      mrj&  

1- ny [kkylk dh LFkkiuk 
2- lSU; bdkbZ& cq<+k o r:.k ny 
3- lSU; inkuqØe 
4- ljcr [kkylk 
5- izeq[k gfFk;kj 

3 



6- lSU; vuq’kklu 
7- ;q) dyk vkfnA 

 
          Describe the military system of Dal Khalsa. 
           Answer-  

1- Establishment of Dal Khalsa 
2- Military unit- Budda and Tarun Dal 
3- Military hierarchy 
4- Sarbat Khalsa 
5- Major weapons 
6- Military Discipline  
7- Art of war etc. 

12       ykMZ fdpuj ds lSU; lq/kkjksa dk o.kZu dhft,A 
      mrj&  

1- lsuk dks mŸkjh] if’peh vkSj iwohZ dksj esa ckaVuk 
2- lSfudksa ds osru HkŸks ,oa inksfUr ds voljksa esa o`f) djuk 
3- ;krk;kr dks egRo nsuk 
4- dekaMj&bu&phQ ds vf/kdkj ,oa 'kfDr;ksa esaa of̀) djuk 
5- vyM+kdw tkfr dh lSU; VqdfM+;ksa dks lekIr djuk 
6- cekZ dek.M dk xBu djuk vkfnA 

 
          Describe the military reforms of Lord Kitchner.  
            Answer- 

1-  Division of army into North, Western and Eastern corps 
2- Increasing the salary allowance and promotion opportunities of 

soldiers 
3- Giving importance to traffic 
4- Increasing the authority and powers of the Commander-in-Chief 
5- Abolishing the military units of the non-fighting caste 
6- Formation of Burma command etc. 

                  Or 
           rjkbZu dh nwljh yM+kbZ ds D;k ifj.kke fudys\ 
       mrj& 

1- i`Fohjkt pkSgku dh gkj o eR̀;q 
2- eqfLye 'kklu dh LFkk;h uhao 
3- jktiwr la?k dh foQyrk 
4- fnYyh lYrur dk ekxZ iz’kLr 
5- lkaLd`frd izHkko vkfnA  

          What were the results of the Second battle of Tarain? 
Answer- 
1- Defeat and death of Prithviraj Chauhan 
2- Permanent foundation of muslim rule 
3- Failure of the Rajput confederacy 
4- Paved the way for the Delhi Sultanate 
5- Cultural influences etc. 

3 



13        lkcjksu dh yM+kbZ ds D;k dkj.k Fks\ 
       mrj& 

1- egkjktk j.kthr flag dh e`R;q ds ckn lŸkk la?kZ"k 
2- vaxzstks dh foLrkjoknh uhfr 
3- [kkylk lsuk dk fu;a=.kghu izHkko 
4- lhek fookn 
5- vaxzstksa ls feyhHkxr dk lansg 

          What were the causes for the battle of Sabron? 
          Answer- 

1- Power struggle after the death of Maharaja Ranjit Singh 
2- Expansionist policy of the British 
3- Uncontrolled influence of the Khalsa army 
4- Border dispute 
5- Suspicion of collusion  etc.  

                
                 OR 
       bZLV bafM;k daiuh esa 'kkfey lsukvksa ds izdkj fyf[k,A 
       mrj&  

1- iSny lsuk 
2- ?kqM+lokj lsuk 
3- Rkksi[kkuk 
4- ukSlsuk 
5- bathfu;j dksj vkfnA 

           Write the types of armies included in the East India Company.  
 Answer- 

1- Infantry 
2- Cavalry 
3- Artillery 
4- Navy 
5- Engineer Corps etc. 

3 

 [Essay Type Questions] 05x03=15 
14       lSU; foKku dks ifjHkkf"kr dhft, vkSj blds egRo dh O;k[;k dhft,A 

      mrj&  
      lSU; foKku dh ifjHkk"kk,¡& 
1- dSIVu ,e0ih0 oekZ ds vuqlkj& lSU; foKku dwV;kstuk] lejrU= 

vkSj iz’kklu fo|k dk foKku gSA 
2- izks0 ch0,u0 ekyhoky ds vuqlkj& lSU; foKku lekt lss lacaf/kr 

lSfud fopkjksa ds fodkl] ;q) ;U=ksa] lSU; laxBu ;q) dkS’ky rFkk 
;q) uhfr dk v/;;u gSA 

3- estj ';keyky ds vuqlkj& lSU; foKku ,d lkekftd fo"k; gS tks 
gesa lekt esa gksus okys ;q)ksa ds dkj.k] izHkko] fof/k ,oa lk/kuksa dh 
tkudkjh djkrk gSA  

egRo& 
1- jk"Vª&izse dh Hkkouk dk fodkl djuk 
2- ns’k dh pqukSfr;ksa ls voxr djkuk 

5 



3- ukxfjdksa dks ekr`Hkwfe dh j{kk ds izfr drZO;ksa dk cks/k djuk 
4- ns’k ds lqj{kk rU= dh tkudkjh nsuk 
5- ukxfjd j{kk dks c<+kok nsuk 
6- L=krsftd laLd`fr dk fodkl djuk 
7- gfFk;kjksa dh tkudkjh nsuk 
8- vlSU; ekspZs dh rS;kjh djuk 
9- 'kkfUr ,oa lqj{kk dh LFkkiuk djuk 
10- dq'ky usr`Ro {kerk iznku djuk vkfnA 

 
          Define the military science and explain its importance.  
           Answer- 
            Definitions of Military Science 

1- According to Capt. M.P. Verma- Military science is the science of 
strategy, tactics and administration. 

2- According to Prof. BN Maliwal- Military science is the study of 
development of military ideas related to society, war instruments, 
military organization, war skill and war policy. 

3- According to Major Shyamlal- Military science is a social subject 
which informs us about the causes, effects, method and means of 
wars in the society. 
 

Military science utility- 
1- To develop the feeling of patriotism 
2- To make aware of the country’s challenges 
3- To make the citizens aware of their duties towards protecting the 

motherland 
4- Providing information about the country’s security system 
5- Promotion of civil defence 
6- Developing a strategic culture 
7- Giving the information about weapons 
8- Preparing for the civilian front 
9- To establish peace and security 
10- To provide efficient leadership etc. 

 
                                              OR 
      jkek;.k dkyhu lSU; i)fr dk o.kZu dhft,A 
    mrj& 

1- jkek;.k dk ifjp; 
2- lsuk ds izdkj 
3- ;kSf)d gfFk;kj 
4- ;q) ds fu;e 
5- ;Kksa dk egRo 
6- ;q) ifj"kn 
7- fdyscUnh 
8- O;wgjpuk 



9- nwr o pj O;oLFkk  
10- lSU; izf’k{k.k vkfnA 

         Describe the military system of  Ramayana period. 
         Answer-  

1- Introduction to Ramayana 
2- Type of army 
3- Military weapons 
4- The laws of war 
5- Importance of Yagyas 
6- War council 
7- Fortification 
8- Formarions 
9- Messenger and spy system 
10- Military training etc. 

15       ekS;Z dkyh; lSU; O;oLFkk dk foLrkjiwoZd o.kZu dhft,A 
      mrj& 

1- ekS;Z dky dk ifjp; 
2- prqjafxuh lsuk 
3- nwxZ O;OkLFkk 
4- ;q) ifj"kn 
5- ;q) vfHk;ku 
6- lSU; f’kfoj 
7- lSU; HkrhZ 
8- lSU; vuq’kklu 
9- pj O;oLFkk 
10- lSU; gfFk;kj vkfnA 

          Describe in details the military system of Maurya period.  
          Answer- 

1- Introduction of Maurya period 
2- Chaturangini sena 
3- Fort system 
4- War council 
5- War campaign 
6- Military camp 
7- Military recruitment  
8- Military discipline 
9- Spy system 
10- Military weapons etc.  

                                                   OR 
       ejkBk lSU; O;oLFkk dh foospuk dhft,A 
     mrj& 

1- ejkBksa dk ifjp; 
2- iSny lsuk 
3- ukSlsuk 
4- rksi[kkuk 
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5- ;q) uhfr 
6- fdyscUnh 
7- lSU; usr`Ro 
8- vuq’kklu 
9- gfFk;kj vkfnA 

       Discuss the military system of Maratha. 
        Answer- 

1- Introduction to the Marathas 
2- Infantry 
3- Navy 
4- Artillery 
5- War strategy 
6- Fortification 
7- Military leadership 
8- Discipline 
9- Weapons etc. 

      
16 .     Hkkjr&phu ;q) 1962 ds izeq[k dkj.k ,oa ?kVukvksa dk o.kZu dhft,A 

   mrj& 
           ;q) ds izeq[k dkj.k 

1- frCcr dh leL;k 
2- lhek fookn 
3- nykbZ ykek dks jktuhfrd 'kj.k nsuk 
4- Hkkjr dh vxzxkeh uhfr 
5- phu dh foLrkjoknh uhfr 

       izeq[k ?kVuk,¡ 
1- ;q) dh 'kq:vkr 
2- iwohZ {ks= esa ;q) 
3- if’peh {ks= esa ;q) 
4- ;q) fojke dh ?kks"k.kk  
6- ;q) ds ifj.kke 

 
 

         Describe the main causes and events of Sino-India war 1962.  
            Answer- 
            Main causes of war 

1- Problem of Tibet 
2- Border dispute 
3- Giving political asylum to Dalai Lama 
4- Forward looking policy of India 
5- China’s expansionist policy 

            Main events of war 
1- Beginning of war 
2- War in Eastern sector 
3- War in Western sector 
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4- Declaration of ceasefire 
5- Consequences of the war 

    OR 
     1857 dh ØkfUr dh vlQyrk ds izeq[k dkj.kksa dk o.kZu dhft,A 
    mrj&  

ØkfUr dk ifjp; 
1- ,drk ,oa vuq’kklu dh deh 
2- laxBu o ;kstuk dk vHkko 
3- vk/kqfud gfFk;kjksa dh deh 
4- lhfer {ks= esa ØkfUr gksuk 
5- nslh fj;klrksa dk vaxzstksa dks lg;ksx 
6- tkrh; erHksn 
7- vaxzstksa dh dwVuhfr ,oa Øwjrk vkfnA 

 
      Describe the main reasons for the failure of the revolution of 1857.  
 Answer- 
      Introduction to the revolution  

1- Lack of unity and discipline  
2- Lack of organization and planning 
3- Lack of modern weapons 
4- Revolution in a limited area 
5- Support of Indian princely states to the British 
6- Racial difference 
7- Diplomacy and cruelty of the British etc.   

 
 

 

 


